"Name: Daate:

Chapier i Test Review

1 Use the figure to the right to answer the following guestions.
(a) Name a line that contains point A, '
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{(b) Name a point not on line AC.
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(¢) Name the intersection of line AC and line DB.
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(d) Name a pair of opposite rays.

wA ad o

2. Use the figure to the right fo answer the following questiﬁns‘,
(a) How many planes are in the figure?
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(b) Are points B, E, G, and H coplanar?
' NO
) Name a point coplanar with points D, C, and .
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{(d) Name the intersection of plane ABC and plane JDC.
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3. Decide whether the statement is true or false.
(a) Point C lieson lineI. =

(b) Point E lies on segment AB. |

1(c) Points D, A, and B are collinear. [~
(d) Points D, A, and B are coplanar. 7|
(¢) Point C lies on inem. |

(f} Line [ and m intersect at point E. Y

4. Find the length of BC.
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5. Find the length of each segment.
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6. Find the value of the variable and KL if K is between J and L. § !
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8. Use the number line below to answer the questions
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(a) Find the following measures: BG= 172 DG= } AG= M
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| (b) Find the coordinate of the midpoint of the following; BF = CF = "
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9. Find the distance between each pair of points. Round your answer to the nearest hundredth.
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10. Use the distance formula to find the distance between each pair of points,
(a) I(-7,0) and Y(5,9) (b) A(O 0) and B(15, 20)
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+ «1. Find the coordinates of the midpoint of a segment with the given endpoints.
(a) A(7,3) and B(9,-1) X 4% « () A(12,5) and B(3,-3)
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12. Find the coordinate of endpoint B given endpoint A and midpoint M.
(a) A(6,2) and M2,0) 1 (X3, M) (b) A(2,5) and M4,-3) B (%2, M2)
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13. Draw an obtuse angle and label it with vertex B, anci with sides BX and BZ.
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14. <A and <T are complimentary. The measure of <T is three times the measure of <A. What is the measure

of <A‘? & fiu) & o ‘-3\;’3“
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15. Angle B and Angle C are complementary. Find A, B, and C.
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16. Suppose <P is a supplement of <Q. Find the vatue of x, m<P, and m<Q if m<P =11x+2 and m<Q =8x + 7

2 s add OP o VST e

WX +2 asx3d =080 (v @y @ 5eay
1G-S = BT Gy 2 ERA S 5
- _,W”TwﬂM W:L e AOV TG
\(3 j\\ - 1 B -
A
ix=41
17. Find m<T if m<T is twenty more than four times its supplement
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18. BD) bisects <ABC. Find m<ABC.
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19. Given m<ADC = 135, find m<BDC.
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" 40. Solve for x and y.
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21. Solve for x and y.
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22, Solve forx and y.
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23. BD bisects <ABC. Find m<DBA.
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24, Solve fory.
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25, Given <NQR = 10x + 18. Find m<PRQ.
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